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<AFRBE>
7 REL AiEhRD RETLT SHIERD R¥E aat

B2 - IFEBXD B | FED | EB | FEDH | BF |FEH | B3 | FED | B | FED | B | FEDH
TEER6FLL b 5 1 1 1 8 0
EARES) TEBRO TR 2 1 2 4 1
gt 7 1 1 0 1 0 2 0 1 0 12 1
TEBROEELL L 2 2 0
FARERA L SE S ST 3 1 3 1
gt 5 1 0 0 0 0 0 0 0 0 5 1
TRER6EFLL b 7 0 1 0 1 0 0 0 1 0 10 0
ast TRERGLERIG 5 2 0 0 0 0 2 0 0 0 7 2
gt 12 2 1 0 1 0 2 0 1 0 17 2

RER6ELU FDEIS 58.3% | 0.0% ([100.0% 100.0% 0.0% 100.0% 58.8% | 0.0%

<BHFEHE>
7 = e RETLT SHIEED B8 =L

BE - IFEBXD HE | FED | EB | FEDH | BF | EER | B3 | FED | BFF | FED | B | FEDH
TRER6EFLL b 8 1 1 1 10 1
EARNEE TEBROEERIE 2 2 0
gt 10 1 1 0 1 0 0 0 0 0 12 1
TEBR6EF L L 2 1 3 0
FrARERA TEBROERIE 9 1 10 0
5t 11 0 0 0 1 0 1 0 0 0 13 0
TEER6EELL L 10 1 1 0 2 0 0 0 0 0 13 1
aat TEBROERIE 11 0 0 0 0 0 1 0 0 0 12 0
5t 21 1 1 0 2 0 1 0 0 0 25 1

TEEROF L EDEIG 47.6% |100.0%(100.0% 100.0% 0.0% 52.0% [100.0%




